www.tahsilatetakmili.com

.

S oS

> 861

P O L A O P A L P ES L P O E A AV R P L B B

doliy pas ’V‘ «.Ogu0 g0 0! CSlaw Sgun OLe! SLLLIIS (S
(o) e alal
\YaAIriry AY. 4 o)) gt p

Al el (5 ) senr
S35 3 Dl pgle W jljg
23S gel i Glajle

(\YQA ,Jl.w_ Jé'é &»Hb ..x.&,!u.»l.:..‘b,lf ‘SLQO)QO $99)9 U,.oﬂj

[ (Y+R) 05 =y gunolS pole acgomo )

L AR YFe 2 ol Soike L WA 1o Slows

Sl U | Byledd 3 | Jlgew Slami Sloial slge g

L ) Ve (adSl) i 3 gogos Ob5 | )
Fho 9l pale Jle (Vi) peges 8Ly wl gy

70 n Yo | g tues PTGl (pil) IUT Gl oS 2 g g yle | Y
(Jia! gl

1 144 Ye Al 4 i Sl g s j8U1 o 1ub Jeols s le Y

1" 45 Y. s gomo s ki g 3haie Jlo | ¥

' 13 Y Ol i Jlae § dinnnS Sludlsy | B

EOWNVE S F PR IWE 0 PR P P9 D18 s by 39031 o)

Bygn ) A e gl Coniliin b g i gn lone e sl 1 39000 L gl gl 3 A el aled 31 0 409 3T 51 2 3 o (ot Rty SN) 5 8 0 T S S i

A P A A A LA B £ A IAT L P A S L B A LA B



https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Y axio 861A (17+9) 05 = i gasolS palec acgoms

ol (9031 dads 10 Lol jgua pus & s (b3 Jeuo Ol jade 1o Las! g Glakie 730 pos (ool )5 Llbogls

Y PUCRENCYPRN P 2R PN L g 1 [ I PR — el § el b i il
9 £ Vg a3 g aolzewl YU iauds> 45 5959 Oyl VL ) Zude dgld 5,ld L) 395 Juso
wloige a1 placbizeuly (ol 9 VMg 43 335 (595 b 0l 3 J S 05

: (ww/)&,.aad'u",“o,udéj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an --- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --=—----—--- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ----<-----= imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom,

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience --—-----—-- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ------------, he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and --
sun and the wind.
1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ---------— of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

--- from years of being out in the
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10- That is 100 —=—veeeeen an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) --=-=------
spatial reasoning. and the results were published in Narure. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-seemeemv
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) ---=----—---. They found a temporary
enhancement of spatial-reasoning, (14) -------—--—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ====e====-=- the music condition is

only temporary.

11- 1)in 2) for 3)of 4) on
12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience
13- 1) silence 2) was silent 3) there was silent  4) of silence
14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer each question by marking the best
choice (1), (2), (3) or (4) on your answer sheet.

PASSAGE I

Perhaps the richest and most exciting area of application of the projection theorem is
the area of statistical estimation. It appears in virtually all branches of science,
engineering. and social science for the analysis of experimental data, for control of
systems subject to random disturbances, or for decision making based on incomplete
information.

All estimation problems discussed in this chapter are ultimately formulated as
equivalent minimum norm problems in Hilbert space and are resolved by an
appropriate application of the projection theorem. This approach has several practical
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19-

advantages but limits our estimation criteria to various forms of least squares. At the
outset, however, it should be pointed out that there are a number of different least
squares estimation procedures which as a group offer broad flexibility in problem
formulation. The differences lie primarily in the choice of optimality criterion and in
the statistical assumptions required.

[.east squares is, of course, only one of several established approaches to estimation
theory, the main alternatives being maximum likelihood and Bayesian techniques.
These other techniques usually require a complete statistical description of the
problem variables in terms of joint probability distribution functions. whereas least
squares requires only means, variances, and covariances. Although a thorough study of
estimation theory would certainly include other approaches as well as least squares, we
limit our discussion to those techniques that are derived as applications of the
projection theorem. In complicated. multivariable problems the equations resulting
from the other approaches are often nonlinear, difficult to solve. and impractical to
implement. It is only when all variables have Gaussian statistics that these techniques
produce linear equations. in which case the estimate is identical with that obtained by
least squares. In many practical situations then, the analyst is forced by the complexity
of the problem to either assume Gaussian statistics or to employ a least-squares approach.
Since the resulting estimates are identical, which is used is primarily a matter of taste.

The projection theorem -----see-eee,

1) is applicable only when the available data is complete

2) serves as a virtual tool to solve scientific problems

3) is used when random disturbance of experimental data is used

4) is used to make decision when the available information may not be complete

Estimation theory -----eeeeeev,

1) provides an alternative approach to solve the maximum likelihood problem

2) can only be addressed by a least squares formulation

3) can be addressed by techniques using joint probability distribution functions

4) provides a useful tool for evaluating the effectiveness of maximum likelihood and
Bayesian techniques

The choice of optimality criterion and the used statistical assumptions —-—--—--,

1) are irrelevant to the least squares model

2) may cause the projection theorem to be ineffective

3) leads to a particular least squares estimation

4) may make the least squares approach to be inappropriate

The estimate by various approaches is identical if -———-eeeeeev,

1) the problem is not multivariable

2) joint probability distributions are not used

3) all the variables have Gaussian statistics

4) a complete statistical distribution of the problem variables is used
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The minimum norm problem in a Hilbert space as an estimation problem ------eeeeeu .
1) may be addressed by several alternative approaches

2) can only be resolved by a least squares approach

3) is a hard problem to solve due to inappropriateness of the projection theorem

4) is solved by a direct application of the projection theorem

PASSAGE 2:

In comparison with facsimile, which has become very popular in recent years, electronic
mail is more economical, has the flexibility advantages above, and is in principle more
convenient for data already stored in a computer. Facsimile is far more convenient for data
in hard-copy form (since the hard copy is fed directly into the facsimile machine). It
appears clear, however, that the recent popularity of facsimile is due to the fact that it is
relatively hassle-free. especially for the occasional or uninitiated user. Unfortunately,
electronic mail. and more generally computer communication, despite all the cant about
user friendliness. is  full of hassles and pitfalls for the occasional or uninitiated user.

There is a similar comparison of electronic mail with voice telephone service.
Voice service, in conjunction with an answering machine or voice mail service, in
principle has  most of the flexibility of electronic mail except for the ability to print a
permanent record of a message. Voice. of course, has the additional advantage of
immediate two-way interaction and of nonlinguistic communication via inflection and
tone. Voice communication is more expensive. but requires only a telephone rather
than a telephone plus computer.

As a final application, one might want to use a remote computer system for some
computational task. This could happen as a means of load sharing if the local computer
is overutilized. It could also arise if there is no local computer, if the local computer is
inoperational, or the remote computer is better suited to the given task. Important
special cases of the latter are very large problems that require supercomputers. These
problems frequently require massive amounts of communication, particularly when the
output is in high resolution graphic form. Present-day networks, with their limited link
speeds, are often inadequate for these tasks. There are also "real-time" computational
tasks in which the computer system must respond to inputs within some maximum
delay. If such a task is too large for the local computer, it might be handled by a
remote supercomputer or by a number of remote computers working together. Present-
day networks are also often inadequate for the communication needs of these tasks.

The popularity of facsimile is due to it§ ~—=-aeeeeeee,

1) inexpensiveness 2) communication speed

3) general purposefulness 4) convenience of use by beginners
Electronic mail ------------ voice telephone service.

1) has the same cost as 2) is less expensive than

3) is more expensive than 4) is not comparable to
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The word "occasional” in paragraph 1 is similar in meaning to -—-----— -

1) infrequent 2) unprofessional

3) articulate 4) learned

Remote computer systems -—-----e-eex,

1) are not needed for load sharing tasks

2) are needed only for processing high resolution graphic outputs

3) have produced a number of unnecessary complications

4) are needed as a supplement to local computer systems to handle some possible
inadequacies

For tasks in which a response to the input is required within a limited time, -----=-aeuuv,

1) remote processing may not be helpful

2) a local computer may turn to be inadequate

3) present-day networks make use of high-speed links

4) remote processing may be used appropriately

PASSAGE 3:

Solving an [EP can generally be regarded as solving a nonlinear algebraic system. It is
not surprising that many existing computational techniques can be applied to-solve an
IEP. However, because IEPs also involve matrices; there are more matrix structures
and properties that can be and should be exploited. We have found from the literature
that current numerical procedures for solving IEPs can roughly be classified into three
categories. These are:

1. direct approach.
2. iterative approach,
3. continuous approach.

Thus far, we know of no superlative method, whose performance is clearly superior to
all others. Rather, it is often the case that a certain method should be specifically

tailored to fit a certain problem.

Direct approach. By a direct method, we mean a procedure through which a
solution to an IEP can be found in finitely many arithmetic operations. It might be
surprising that, for nonlinear systems such as IEPs. such a method could ever exist.
However, most [EPs with Jacobi structure can be solved by the Lanczos method that
terminates in finitely many steps. The paper by Boley and Golub (1987) offers a good
survey of this method.

In fact, it is also the primary concern in the paper by Ikramov and Chugunov
(2000) who search for upper bounds on the number of prescribed entries so that a
matrix with these prescribed entries and a prescribed spectrum could be completed by
finite rational methods. By a rational method, we refer to any procedure that uses only
arithmetic operations of the field over which the problem is considered. As such, a
rational algorithm can employ exact arithmetic, say, using the computer algebra
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package MAPLE, to complete the construction  of a matrix. At present, the bound on
the maximal allowable number of prescribed entries in such a PEIEP appears to have
been set by the Hershkowitz theorem (Hershkowitz, 1978), beyond which no existence
theory is available and no direct method is known to work. However., this lack of an
existence theory does not mean that no other numerical methods can be employed to
find a solution.

Many classical results in matrix theory proved by mathematical induction may be
regarded as constructible by a direct method. With advance in today's programming
languages that allow a subprogram to invoke itself recursively. traditional induction proof
can be transformed into a recursive algorithm which terminates in finitely many steps.

The word "tailored" in paragraph 2 is similar in meaning to ~—--eeeeuev,

1) adapted

2) decomposed

3) transformed

4) decoupled

There are many computational techniques for solving nonlinear algebraic systems,

------- approach exists for solving certain 1EPs.

1) but no direct 2) and a direct

3) but no iterative 4) but no continuous

A direct approach for solving the IEP has been developed due to --

1) the employment of the Lanezos method

2) the Jacobi structure of the problem

3) work presented by Boley and Golub

4) use of a nonlinear algebraic system

A method using only finitely many arithmetic operations of the field of concern in order

to arrive at a solution —--=--eeue-,

1) cannot be developed

2) is always at hand when MAPLE is used

3) can always be developed regardless of the structure of the problem

4) is at hand if the number of prescribed entries in a related matrix is limited to a
certain extent

The word "invoke' in the last paragraph is similar in meaning to —-----=-nn-,

1) call 2) transform

3) construct 4) induce



https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

A axa0 861A (\T“)J-;WUP# AL gox0

o o Bl j T (oo aF pur 3 Lo pilo (iloo (O p3de (Jilao (Tg))og0s (b)) 4l ug)0
 (Maio! ilao 3 (008 julliT

Seasl ploS” lim ( ;

\
e i  pri) il <Y)
B=0 \/n'H \/nY+\‘ n" +n

o ()
Y (¥
Iny (¢

Y(\Y =) (fF

«:.;...n,.um&i.A={pe(o,oo)|2(9/;-\)" <m} S Yy
n=\
(V@)
[V.oo)Y
(e,9)AY
[e.0) (f
A
e—(V+x)*

ol plas’ lim ——— Jade -YY
X—»o X

?c._..l,uJ‘wL Jade —YF
) x\/H-T
ln(\+\/;)(\
In(Y +¥) (¥

ln(\+vx/-\:)(r
oo (F


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

§ axae 861A (17+2) a5 = i gasolS palc acgoms
X
fomwl plas | X [<) dLols jo f(x)=ﬁ U eSe g YO
(\—-x7)
x
an“‘” (O
n=\
\ o
1§ nx™ v
Y
n=\

Sl plos r =cosY0 g r=sinY0 b Jovs 4 dgums aol colue -YF

T

a Y

(Y
Y

T

A ¥

n—-v (F

: X +siny
¢! Caww yd im ———
(x.y)=>(c.0)y +SInX

3y90 5 a ) plas YV
asiaal Y J._J).g § S5>ge \
el =) ).3‘).: § >4 (Y
W] © J.!‘ﬁ 9 Og>ge (¥
r
‘e K7
Sl plas I I (€ dydx i -vA
ovX

Y



https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Vs axio 861A (17+2) 05 = i gasolS palc acgoms

Slaiie Olonio 3 ¥ =1 oX =¥ Oloniio oym Uad Jal pidd Ko 30 adly Z' =YXY ws) j i oo buns
¢l plas

Y ()

¥ (Y

¥ (r

5 (F

b'x'+y" =b" gt 33 (=V,0) adai @ (V,0) aladi 31y gloyd f-‘(x,y):(\'y"ﬂ'. VPX) 90 olose
39 00 o2 3o b Hlais plaf 131 4 s plawil HI5 .S o0 Lo sl
Ta
Y
=y
T (¥
A (f
Sl oIS 52585158 s
a=PB=c ol au+Pv=c S s & sucssd:ljla
au+Pv#Eo &5 &oge s @ ool sluel ()
oU+PV =0 a5 0s>g B g O a0l slael (¥
o+ PV # o0 & B85 cadl a0l il 51 K Jila> a5 B g o slael (7
QUHPVEe & Wjls 343y cunl yaol il 51 S Jila> o5 B g a slac! (F
Clawl S y3 0,135 plas
Vxdyp(x.y) = JyVxp(x,y) (¥ Vx(p(x) v q(x)) = ¥xp(x)v3Ixq(x) O
(3Ixp(x) A 3xq(x)) = 3x(p(X)Aq(X)) (F  ¥x(p(x)Vvq(x)) = ¥xp(x)v ¥xq(x) (¥
O Gt 33 4 35 105 B 3 A & gamo 93 11 0 X sloac garo s dod dy1s 8 P(X) i 58
P(A)cP(B) &1 AcB (v AeB /&1 P(A) e P(B) 510\
A cB &1 P(A)cP(B) 1 (f P(A)eP(B) &1 AcB gi(r
@931y Redlaly o N ooy 1y Ry aluly o N¥ (o) 1) Ryl by gands oloel Giolei N sl (5,
oS (g0 B i g5 90 4 NXN

f R,g < maxf(x)=maxg(x)
xeN xel

xRyy & |x-y|<r
(Xy5¥y) Ry (Xyy¥y) € X, ¥, = XYy
faiiws 55502 Ry g Ry g Ry glaaal, 5l Syplas
plaszs (F R, s R, (¥ R, Las (Y R, (A
(padd 0 ulei N, L1 N Lol ous) fowd plas N & N 51 Jo3 1aasT polgi dad i gome ol S0z

PIE L O L P il sl O FOM K JOF [0

-rq

~Pe

-FY

-fr

-f¥f

-¥8


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

V) axio 861A

(17+2) 45 = Yiganels pole acgorno

p ool V={(a+Yb+fc+Yd,Ya+Yb+¥fc,Yb+Ye+Yd,-b-c—d)|a,b,c,deR}

fousl plas RY 51V lad

f(f Y (Y Y (¥ Y ()

)|.LEA.XY+TX+\' Lol ,_.I,.,J&Md«hq W a5 Cwwl b gbalo L XY u-u.i'la\.ig_A

b ol il tr(AT)

\Y(f Yo (Y o (Y -Y ()

. ; . p A X¥Y | wiias Y Y . "

PPROUONCEY [ ' PR U e e | PRRCW PR TIEY § - v Ao LT:R - R s bas
y X-y

el ‘.'..\.f .O)L.\.iliﬂ‘ ‘suql.;

X’ o

4
o —Y
Y o

(43
o Y

X o]
(r
O r d

[-—Y o q
(¥
R

Sl plas A~
\

X ==X == ()
AR

\
X' ——X—— (¥
Yoo
r y )
X +—X —— (f

-5

-y

-FA

-fA


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

VY axio 861A (17+2) 05 = i gasolS palc acgoms

= baed g udb R 59, ¥ il 4y jl gldglados aa sludd Py(R) oo (5,8 -0+
ul—n:JL! pY(R) Q_‘.t B: {\.x'x'} ;‘ .A'l_ﬁ& )hi)é 'J T(f)= f+f' +f" ‘kgu L'! T: pY(R)—) pY(R)
Sl 4 3¥ plas [T7]g ol

Y\ =\ o
o =\ —=¥|q
o (<] \
[\ =y o
o \ =Y|(
o o \
Y\ o
o Y =Y|iqr
o 0 \
y —y™4 |
o\ ) =y | (¥
> [ —\d

Ay plal aBL Y gl Lef bli aed jo o Jlode g Gwes S5 bliides o IR O R abivcs o, -0)
Caw! Ca yo f a0 50
ol s 322 ()
ed prdyiitie Lagyl Jy ol 31g2 atung (¥
s S92 gy Lot g Col divgy (F
] g S5 Slael (o Ladid (F

?mlw,aq;&',l»‘.B:{xeR: inf |x-—a|=o} s ACR uis o9 -oY

acA
B=A (v B=A° (A 54,9 ()
B=A (A b (f B=A" (A cuo> blu)(r
nn
Faml G y0 adu 3 olas {a, 1 alid > 9 90 30 . S Ll 0 1, A, = sinsin...sin( ) s -AY
ol a3 4y 5¥ plas {ay, } 030 3% S a0 o 1) A = e
3,0 g2 (F Sl SINY s (Y
® y
Fawl Canw )0 s 35 ol -)" 3,90 30 -OF
ol Canwy 4y 5 o an‘( ) In(nry) S5
ol 3l (51K ()

sl Sy 5 Jy ol S 0T (S5 (slagserma allis (F
W )LU-‘; Qi o ,__gh&,o:_u aJlis (F


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

VY axao 861A (Y-4) oS };"-?'3‘“‘: p’.lc AL go%0

X
i 2 F(x):L f(Odt wats b F:[a,b] o R &b g adb piy J1,850 [a,b] 5 f ot ass o8
Foaw! G yd 4y 3F plas 09l

ol pluaiia @b) 4 F (¥
sl g AZinga [a,b] »F(r
005 955 by 9 peile 8, T LA (sl )0 A dlusl uled (gl ouds Jloyi jalids s sl S5 53

lawl jada 1Y 51 WS 0 uled BB dae o i SGo 3y 9 (10 glus 33) 1T dus o aloll

-\ o

A
Kt (¥
A

B s S g Sowl X° LA =AT o) 3o a5 min|| Ax —b||, alu Cls>
X

A sy AXT=b
A zs 5 AX —b (v
A" zs 5 AX =D (v

AX=b o8 Sl 5o x" (¢

1 b ]

“« |3
- |3
- |3

’%I 9 floy0,0] ol g S Hlado ol!oi.f(x)=sin1’x S

-:’0(\

.................. Laiplycw pau fl

0 =AY
. Y

o —("
Ty

-
—_ 0 (
v b

Glales Wiz 1) Q(X) Sid Codo e Slaci M g pam i y0 &5 F(x)=x"(xP —x") a5 2,
f(X)=q(x) el 30 2 S di=o,n,m+p (X;,(X;))) plae dols Mm+p+) gy by

~-bF

-av

~8A

-04


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

V\F axao 861A (Y-4) oS };"-?'3‘“‘: p’.lc AL go%0

b Y
Cds 4>, I f(x)dx:hf(b)—hT-f'(b) s h=b-a .y a0 [a,b] o5b » f b ais 28
a

o 3l gl T (glas g Jge 3
hT
Jce(a,b):E =7f"(c) s ¥ i ax e ()

¢
dece(a,b):E =-h;—f.(c) g ) 3 ax o (Y

g

EIce(a,b):E=7f (€) ¢ ) o ax o (¥
h\’

BCe(a.b):E:—;-f"’(c) o ¥ Cds a0 (F
Tl plas ool (Sl .ol Vo g yio plp )i 0310 Yo 5l VD 4l o Suo g jle Bl il
,ﬂ..a(\
(Y
Y oY
Vo (F
NP 2 LS B g A Lain i 90 aul Jlado! Laiills oo Guoy U 5 Jaio N g9y Solai 4 yain
! plas v puf

=
n a

n

=
n v

n
(n-Y) o
n(n-1Y)
\
—(F
n-—\

z9) Lol slas! sl a5 A i jué sWbacgome p j Slowi .ol saae N =TK dcgomo o A 08 5,8

fluw! plas (all
™
Yy oy

oI
Y

v"-%-\ (f

~$e

-#\

_5Y


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

V0 axao 861A (Y-4) oS ;WU p’.ll: AL 9020

\ %

‘—o ’Z Mol aw 90 ol 9) Sl Jleia! all o ol Lag] 51 SO a5 ol aSw ¥ ol glas

{ely gy 09y} deldoy sunliv Jial .ol o WU p b 4w § Gl 4w 1 Bolal 4 1) 4w SO cl
ol plas

ARR

(

\()OU

AT}

(Y

\voo

00
\()0()

1
Qoo

910 0929 ol 8340 & 9 i 3500 B 190 0 lel Ax> o goliw 000 ¥ g i B 00 T U 0l A g0

(f

P 30 9 S A jl Jolal & slo e AL T O pan sul gy das S aulS 0 Ol 1) plle Wb SO
dz jl Jlial 4z b all sadw Sl 0 4 ST 090 0 SRS Bolal 4 glo s £33 a1 O g0
faul oo So8,lad

~-7¥

-7

¢ dawrlro 4y Jid ilo 9 Wi ;38 oo (o0l oy lais L

i =l 3l pmis Yoy ) lod G (g 5lawiad o gl (Merge sort) oleol g3l yo oo 98! 5o
fods anles 4z oo jafll Sloj Fauzmu g wl 10 sauS oo solisul (Insertion sort) >0 5jlucd o
O(n"logn) (f B(nlogn) (r O(n") v B(n)

Pl 4o Al ool s sdign Cawd 93 ¥ = (Y ¥rsen¥m) 9 X= (X3 Xpyen X, ) a5 o8
ol p‘é’.uw%;z S 0 1y S 90 Jﬁ,,ﬂ'

, (Xys¥)sXys ¥ysees X sV msXmayseenXy) if m<n
(Xys¥)sXys¥yseeosXns¥ns¥nayses¥m) if m>n

O(m+n) (v O(mn)
O(min(m,n)) (f O(max(m,n)) (v

~-7F

-7y


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

V$ axieo 861A (1Y+4) 05 = i gasolS pole acgano

fubQ
fue(y
hice(r
hie(f

il plas 5 g yile jlea 51 SlILGS oy (5l Slawle Slaad (1 iaS
Ayxa X Byye X Coyy, X Dy g,

Vdoo (F Vieo (¥ A¥a (Y Foo ()
Tl plas 15 pia )98l (Siloj 4 o
f(n)
{
X=Yy=%
while(y <=n){
Y=Y XX5
X =X XX§
}
H
log(log(logn)) (¢ log(logn) v logn logn (v nlogn ¢

2 25 Jes!l g Cuwl sud 0dls (Stack) JB iy oG 59959 30 Sy & Sae8 jledy @ F U 5 slasl
! ploxl LB aily 59,

B3 g0 I8 Ay ;0 9 IS 1) (5999 398 ( y S 95 Push

W3 oo |3 25 30 e § B> aily I |y aily YU gas Pop

d e 1) Slael) Sraly aills (o29)3 )0 @98 Jok 98 il (o § a2 L 09 (03 1) 25 95190 1 Saplas
(wilgss

\YYOFF ()

YYOYY? (Y

YYEFO) (Y

FYY VSO (F

Toggn (w3l 3 polis I SHplas aly ) Bia b 3 ) 6yl Gaxima S)0 30 —FA

4

_Vo

-


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

WV oaxao 861A (Y-q) a5 };".?'.‘,"’U p,.lc AL gox0

pC polhaxdgedfup!lynxn ojllbB s A o ylo 90 C =aux(A,B) doliy i ddS 28 VY

¢! p‘.\SM oyl sl 2 C'?U u.‘u:-f}g ylade ..\.ib;u.o
Mat(M)

{
P=M;Q=M
fori=\ ton-\ do{
P =aux(P,M)
Q =aux(Q,P)
H
return(Q)
H

n(n+\) n(n-)

M Y M " M"Y (v

M"™
Joleo (p0dla (5,105 30, (g 5l ooliiul b el aillo 1) 305 Lo (o (Slgl 3 Jouar a5 (F e p3 VY
(DS G 1) SO jlidie Sl ) Wigas 4 9 oo o u Wigw &) Yiun! plas DATA AalS 500 (55135 50,

A D T

OIYA 0/‘ o/o\

o Yoo \oeoe (f o YYe dol\e (‘" o\eo oo (" aVY\oe) (\

Cass ol ok 4> Al (ol .0iS oo Cdl )0 1) Cd )0 S ) o pjali -VF
int func(TreeNode*T)

{

if (T == NULL)return(e);
else
!

m, =\+ func(T — leftChild);
my =\+ fune(T — rightChild);
if(m,>my) return(m,);
else return(my);

H

S g il | 33559 93 b sl sluas ()
AT oo dlxe ) S50 J3D (glae 5 ol (Y
WS g dawline ) S350 (glae )5 IS olaws (Y
S g dila | a5 glis ) (F


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

A axae S61A (Y-q) a5 ;WU p,lﬂ AL gox0

Cowl 00l (g 5lwodly linear probing jlsoliiul b &S (h(x) =x) Jlea fp 2l jloolaiw!l b ass o8
el B0 33 ) Do y900 A2 Az g paledls H1,8 il T S o 1y wodld
Y Y ¥ F L F Y A

o

A WIYIYWIFIT

Foml Laools (59959 e y S ()Ll i i plas
RAIAARAVR NI ARVE AL A L FUBRIA AT AVE SR ARI AL R A AVREA A SNE

- & n -
20 Glei g0 1) (MST) wies Slig oo j0 allus wlil axdls Wl ~ Ol G e A5 g OIS SO o

o5 Jo Jloj 4
O(lognlog(logn)) (¢ O(nlog(logn)) (v O(nlogn) (v O(n)
Sl plaS o lgad gous Alis L ogd oo g p ) ail byl &5 G sous Ao il
G(e)=o
G(n)=n-G(G(n—-Y)) n>\
St S lad dllis o G Al (Y B0 3929 Allid g9 pu (sladal; zaa ()
sl ligend alSs acgammays; G allis (F Ll G allis dsgame iy o3 Usns Allis (¥

B1yF (g painai alinns s Lk HAM g (5 0y d0uo (5 o8 pomal’ aliuns 50080 4L SAT ol 0,3

32 4 Wilzae ) OMles dod Oy w0 0S| Jeilule

Zasl « PENP oS5l P WS 4 Glais NP 0 5l glalins ST1()

sl X € Piatl YeP STalhal Lis Y a4 gllesai> & g0 4 X S1(Y

Al oS WD oy ;08 ] > (gl 45 5,105 3929 NP NS o (glaliea (¥

Glabezaz gl LI Sy Shsapa! )0 il @il 3925 SAT & X alics 5l slalezais Ll S5 S1(F
3,15 3429 35 HAM 4 X 5

Samal 4 30 plas 1 T(n) = YT(%H 8(vn) o857 .asb B(VN) 4 o 5 T(n) = rr(lf'-) +0(1) 51

0(v/n logn) (f O(nyflogn) (v O(log"n) (v O(n)
Sl plas U o850 abal, o\Sﬁ.T(n)=T(%)+logn g st U(m)=T(r™) ,5
U(m)=U(m-\)+m (¥ U(m)=U(m-\)+)
U(m)=U(m-)+y" (f U(m)=U(m—Y)+logm ¢r

Vgl el) 90 (o ahne e (38U (gl el ) T UL plad (339 45w e Yl 50 Jlagyie BINF
€310 1y 21515 oo il s o8I plas 31 oalazul

Bellman Ford's algorithm (¥ Breadth — first search (\

Dijkstra's algorithm (f Depth — first Search (¥

AVL Cs 50 oS0 33 0,5 dluai 1y ikl g o3y oUUT 0l jio das (51518 0,5 S LAVL cij0 S5 51
foanl jadz & Gos b VL

£F 418 (Y £Y 51 ()

-Ya

-y

A

-YA

-4

_A'

A\

~AY


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

1 axio 861A (1Y+4) 0F = 5 gasolS pole acgae

fowwl Wz Al ) o2 slas ) Sluai JaSlas 0 oojlwil b (heap) cud &G 0 —AY
n n Yn
i (f — (Y —_ (Y n—\ QO
¥ Y ¥
JUie g1y D90 o i 2 K U1y o slas! olgs 81 awof oo 00 i o sy K 1j A geacn &l)]  —AF
RUCESRRIPORLT (PRTRIC 3L FUPIIPS JRISETIN I [NIPICTRRRCNN PV-S0c JORnt- e uea w2 | 7.8 3 RV A &)
ol u.ila) &J)o a> 6')"’ ‘5“.1')7
O(nlogn) (f O(logn) v O’y O(n) o
S oo Jlosl |y Cudgame (pl oyl 53 asd o po Woodld (33,5 (29e L 1) 030 M pudles o ulS (28 -AD
Sl o ol 8> oy a8l fi— ] <V Al S0 39 P92 0 b Wl gei Alj] b Ali] polic o

! plas o3 598l o
\ g
Q(n\/;log) (f Q(nlogn) (v Q(n") (v Q(n;) (\
¥ ] Zazmae 3590 105 oUUT .oy jufs a5 j0 1y 3 ol )5 90 AP
G,y: Gy:
S—aS S,—>T
S — aShS S, > U
B=¥e T —aTbT
Toe
U— a8,
U—aTbhU
L(G,) = L(Gy)
At e ol )5 g e L(G,) = L(Gy) (¥
sl pian i ol 5 98 18 L(Gy) =L(Gy) (¥
ol gt it Gy g pae 01,8 Gy 4 L(G,)=L(Gy) (F
aS byl ol ~AY
eelL

Vx,yelL axby, bxayelL
¢l pS L 34
(X 4l yoa 51, olawi : ny(x))
L={xeZ" |n,(x)=ny(x)}
L={xeZ"|n,(x)=nu(x) xefa’db’}} (v
L={xeZ"|n,(x)=ny(x) xe{b*a™}} (v

L={xeZ’|n,(x)=ny(x),xe{a*b" b a*}} (¢


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Y+ axio 861A (17+2) 05 = i gasolS palec acgoms

Coul pamo p 5 alos plas il L ¢ {a)* ass o8 -AA

ol plaza L Y

wanl 920 5 Jaoane L (¥

wao! lize L gy a8y 20 5l Ji2ee L 31 (Y

el (0 3l Jiis e 2L Turing — decidable L 51 (f

ol (B s Sl S0 1yl ladd a5 ols W)l 8 (9w NFA G (g o0 25 bl 1 Suplas gl

Gt +1) (f (\+g)e” (F (" +o%) (v (") O

By=(*w*| yelol®y k21 530k it Jatiy )

By ="y [y efo)” 5 k21 5 S UK 1251as Jaliy )

) @lizali By 9 By ol (¥

ol plazal By g plaze By ob; (¥

ol phize By 0l 5 il By gl (F

Yl plas’ o jlasliw! S0y yei sadilo b i pdy o |y plido glab; haid a5 Sy (sbdiilo Woglas

wd $995s mle ojll 4 lg o (1

i 5 A3l oa (539)9 59, (¥

Sy Ol oo LSS Laid lgi I Jelu ya (g, (F

)10 dn g3 Jy S Gleiiees 8 s3) 9 Sl 5999 b ol @ lg L (F

Yl e ) DM 1 SGplaS

Wl e e Gy Sl (S g ] padad aliy dle G ol e Sl s ) S 6T STO

LS LR Oy o2 ged Al cadad 4z, udle SO Gl el i by SO gl ST

Bl JL(G)=L a5 G a8 ;0 ob; 5l a2, 58 odgs (sl &5 ol mgue BB L o5 G (Y
(e e 3 Jimas G ol )l axdls 592y alazsl

g3 Jla> JL(G) =L a5 G o5 lj & o 5 4, O Jilas odgs sl &5 col pgema B L ol G (F
(ol 20 5 Jirs G jol,) 0L aBls 3929 lazdl o5 j0

~A4

-4y

2 4 WWlrze g olle aa -AY

i=\
ol L 33 aS 555929 T 75l S5 pdvanalone ali S s ool Turing-recognizable L st (Y
asals 4 3,3 5929 TT s 751 S5 pivailne mbi S e <ol Turing — recognizable L 1 (v
o L
3535 8993 2lel dlawi ey <ews Turing-decidable J; ) Turing-recognizable . 51 (f
3585 o0 13 el 100p o L glp ot ol Ky edle ja sl 4 a5 3


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Y\ axdo 861A (17+1) o5 = ygamsls pple dacgornn

T e l) (g At (0 | Jhdemo 305 SO 1 Sy plas’ -AF

L={a'b|i#j&yi#j} O

L= {wle |w.te fa,b}’} (v

Z={w#t|w is a substring of t when w,te {a,b}"} (v

s Z={a,#} o5 24 (F

Y={w|w=t#t#1.#.# eV & t;#t; whenever i# jj

o d Wi w0l der -0

2,18 357y plais degazme ) S plate L) e 610 ()

)2 392y pliie azgamma ) Ko iplaiali B 8 lp (F

2,18 392y pliie 0 angama )y S spliie B o lp (T

31 397y plite 0 asgerma ;S iplaiel Gbj b (sl (F

Adacgomo d Jlii 5 ghio o

il 4210 ZFC slaasgoma &y i 53, aeBolal sl 1) 25 slayeetl 48 253 47
........ , '::{O’\} ‘\:={°} ’°:=¢={}

<x,y>={{x},{x,¥}},
Faiiud Caw)yd xjp&»‘}'“.&i’vé),—oaﬂ 39

WUJ <mn >=max{m,n} (v N ks sus o gl Un+1)=n ()
n+y=nlU{n} @ m<n<>men (g
<x,y>eP(xUy) 6 ol (G90a8 M SIAE gone N (B

% (f & (v ¥ (¥ Y

Sl 58 5 0idh Lol ilaio W5 ))l bl Suplas -AY
IxP(x) — VyP(y) = VxVy(P(x) - P(y)) 0
VXP(x) = VyP(y) = VxVy(P(x) > P(y)) ¢
VxdyQ(x.y) =3yVxQ(x.y) ¢
Fy(R(y) AS(y)) =3yR(y) A3yS(y) (¢
s o il fol @ 2 plal 5l Splas Ol gl -9A
s 4 e Glate sl o coled Aas ()
30 3525 A (53, (e 5y Ml S A egacs 12 sl (F
f(x)eX s 0£XCN ;o glpas can FIP(N) N 20 abi(r
lacgeme ANB=¢ il azls A,BEX 8 gl 4559k il slaacgana j| X 83lgl5 ,0 ) (F
5)s g K ads CNA LAeX pylpas e CcUX Lo


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

YY axio 861A (1Y48) 0F = i gasolS pole ac oo

S JalS ol yolods 00d 5 yma oyl e game 5 Sy plaS
AV T, >} (fF A (Y tv.—} (v =1} 0
D9 g0 Ly | il O g lo )l Glate slaeyl3S (g9, T (A5 5L U
~f(p)=1\: 1P 2 6ly
~f(=A)=Yf(A)
~f(AAB)=rxf(A)xf(B)
—f(A = B) =Y xf(A)xf(B)
~f(AvB)=8xf(A)xf(B)
3,19 3929 Zurno 5 U ai g a8 (s
Dol o Cyaati LSy jabds A (b suds ool T(A) jlade )51 (A
Dad o i LSS jabas A o il 54 slaed! dlawi sall sul sols F(A) 51 (o
Dy 0 (i LSy jobas A 0 &) Jl e i Ol slasi cadlsad ools F(A) S1(z
g o0 (yati LSS b A o aid) )5 () A slaoles slusi (bl sud ool F(A) 1o
Y (f Yor V(Y s ()
Olgal g Py Py slagil b as gl 15 hie sloge8) e 1S (595 (il Oyp0d ) T il paslys oo
F(A) bl ilae Jlop oy 35 45 A b (glp &5 o cipai (5 5ab (Wilsidi il AyVi =4 —> gilie
sekihe (pl (gl Caw)d (ol il Ly S5 5 90 pIS AT dnule 15 A 0 &) 4 b pail Al Slos
ubl wilgi g0
Vi f(=P) =\ f(AAB)=f(AvB)=f(A—>B)= f(A)+f(B)
V(B =Y T(=A)=\+f(A)

¥ f(P)=°,f(AAB)=f(AvB)=f(A)+f(B), f(—.A)—\+t(A)
f(A—> B)=f(A)xf(B)+)

Vi f(P)=2.f(AAB)=f(AvB)=f(A— B)=\+f(A)+f(B).f(=A)=\+f(A) (v

¥, f(P)=o.f(A AB)=f(AvB)=f(A - B)=max{f(A).f(B)}f(~A) =) (f

-4

-4

il o 9 00l 03I T 9 9 P H“)—A.nu)l\_pui 20 a5 AL o)l SO A(p,q,r) Al o8 )oY

Fall wilg g0 Jolro put 55155 iz yiSTas A .Cuul (Fole S'cnly) ik (P2 (q— 1)) = A
7 (f f (v Y (Y ' ()

e Nlzare g a8l aca VY

i pdymeaal glo)F Blata 5l pdilal glae i dea ()

e S e pdy el (slo)l i Glats clagSiles dea (Y

s Turing-recognisable .ZFC claacgome & ka5 j0 SLSI LB sbLlad doa (7
ol iyl a3, T (SLLAS degama il pdyeaanal vt i S Syl degaa 51 (F


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

YY axaw 861A (OY-4) s jm‘f p’.lc AL 900

2= (7)) 9 ACT() STl T glp 4l U A g il oyl 35 5l slacgeme T' s’ (0,9
¢ sl oy 3 a1 51 SuplaS  AVEBYB ayyls BEA o lp (Y) AFA yls AeT
o I={AFA} gl al S ¢ ()
o {Papaq) sl el S L) (Y
el {AV-AY ol al S (AV-A]
el il sl)ls Wo 155 51 T deganes 5o (F
PP(X) = P(P™ (X)) :awds 5181 55 sl g 008 i P(X) L1, X Sy 4sgezme X asgoma 510 )51
ol plas’ PA(0) ac gore ol das & jg0 o0l 53
Y o(r Y Yf 5 (\
ez jlolani 4z S .all ), 1] plea b g sl dled Joldd Jgl adpo b S0 50 (53iS e S &5 0S5 )3
TS g0 03591 2 1 0
Ix,Ixy X, # Xy
Ix\3xy VX(X =X, VX =Xy)
VX \Vxy (X, # xy)

Y o(f Y& (v o ()
Sl pitna 5 gloo )35 519,590 Wi
p—>(q—p)
((p—>q)A—q)—>—p
(p—>q)—>((p—>-q)—>-p)
p—=>(q—>(paq)

¥ (f Y Y (Y Y ()

wiloud S5 Ay, A (08lw (slo 155 slaslad) slaeil 3l a5 adl o laeyl5F jl slacgame T oS 2,8
ol G y0 0 lgad 5 slaled! 51 S plas

ZEF o&Tasl Ay, A, slaesl b slo)i5F 3100

L EF b FEX pylpasculome X 5l Z, alie acgens pj (¥

LFAVA; V.VA, (¥

LEAANA A LAA, (F

Tl g 25 a3 5l Suplas il b G 1A S Ay alon asgeme SO A0S (29
o Salls § S 305 Lags ol il S 4 G F 51 ()

LS gy F Gl sl il ilgs ga £ (Y

Al Loy Jg el S a4 S wilgs o £ (Y

il S 4 S S adl L wilgs o £ (F

“\F

=Y+

~\+¥

~\-¥

~\+A

-1-4


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

YF axio 861A (17+9) a5 =y gamslS palc acgomno

R aibe X aegamo p 5 S 998 o0 Dl Jol U X 5150 U P g (pliel asgame U X 0S8

45 5 9bd 3,10 3929

el 5 CnRu,o:_tuC sac o 5y ()

CNR=0¢ 55 sba 3,ls 3553 CEP (¥

ool 0 LS5 guae S haid 5 S 5l CR acgeme CEP o gl (Y

bl 42l gae Kl e sl oo CMIR acgome P I C gie o o)y (F

o by yui ) ygeoas AlTe] e AN T g ol s (g aio 1 (g gasalS Aol G 1 aall S 4o
for n:=\toYedo

Aln|:=n#*n-n.

Tl g 25 5o )15 5l Suplas

(Vn)(A[n]>e) (v (Vn)(A[n]=<)

(Yn)(y<£n<14) > A[n] = A|ve]) (f (In)(A[n]=YA[n+]) (v

feam! plas’ (3X)[P(x) 2> (G(X) AT(X))] 50 Laudi

(VX)[~ p(x)v ~ q(x)v ~ r(x)](\

(Vx)[p(x) A(=q(x)v ~r(x)}x

(VX)[~p(x) >~ g(x)v ~r(x)] v

(YX)[P(X) >~ q(x)v ~1(x)] (¥

] S y3 0 1908 3 ) slae 138 51 S plas

(((p=>)A(p—=>9)—=>p)—>(qvr)

(p—=r)a(p—>q)—>(p—>(qAar)) «

(((p—=1)A(p—>q)) > (pAq)) 1 (¥

(p—=21)A(p—>q)—>((pvq)—>r) (f

LR PSPINPICIRTY RVINRIN oS RO

sl 85 TUL~ 0} b TULY) slaws i 51 (S sl (0

el 5L TUL~0,~ ) L TU{p AW} sloa l 51 S Jolao (Y

asl 85l ailg e CUfevY) Ly TUfoAY} 51 S a5l (F

25,85k 55 0 TU{OV Y} a0 s TU{QAY) o (F

era Wl 0w slerlici! dcn

VxIy(S(x) = R(X,y)) = VX(S(x) = FyR(x.y)) O

Vx(S(x) — JyR(x.y)) = Vx3y(S(x) = R(x,y)) (¥

JyVxR(x.y) = Vx3yR(x.y) (¢

Vx3yR(x.y) = 3IyVxR(x.y) (f

-1\

-

-NY

-1y

-1\¥

-1


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

YO axaw 861A (\Y“)Jf-ﬁm‘f p’.ll: AL gox0

1l i o § S LSl

3 20 gd & (5ysba 315 18 AXA il dxio G p0 ) (LSS Fhope V Bl e Giyb i &
(Wbl ygiw S0 )0 byl S0 ) slo e 99 gt () TS wagd 1) S aes by

Al

(AD" (¢

AxA! (¥

yxy! (f

A ol 99 m S ige 5 50 B8 ) S 1) X={)Vpe o} 5l gguie ¥ asgome ) 80 & jg0m G SIS
3,00 JU Wiz G155l g po iy i CAB = ¢ ol )0 0 o0 Jogpr 1, B 4

Yoo ()

Yio (v

Yo (r

froo (f

SAL! (y 33 AT pudl yiakao U mas13 0 b {1, Tyeey )0} Acgame 3 olgids lese Bus Sluwi 45 Jilus
3,10 3929 ) 5l 4,3 0.0 L Sus 90 il Ll

o\

F (Y

Y ("

A(F

o2 (5)9me 25 90 Tad 45 )9k 3,5 (5 5mel Sy Alize S5y 8 L) ) BT g olgien B1sb Wz
(09t ool LSS ) 51 pam 31 3,10 Ial) Fulild S5,
\Po (A

YAo (¥

OFo (v

Aoo (f

{Cali, 16851 sl B(x) phyp {by ) alis age aab 3 A(X) ply {8} o Wee i 51
1 sl ol Crory iy A(XT )+ XB(X") wgo aali b blie AL

Ayoq O

by (¥

brra (¥

by..q (F

-1\#

-1\

-NA

-4

-\Y.


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Y5 axio 861A (1Y+4) 0F = i gasolS pole acgae

b ol il 53eae F LY saacgamo 4 {VennA} 5181 glool, slaswi AT
fro (A
Ydo (v
Yio (v
\Fo (f
(F) .abl ¥ 0 pio g0 Slai (Y) .adl z9) W 3Nati (1) ips 3% 0900 338 YO 1 Julpd b pubdles oo — 1YY
3,10 0925 @9 w5 planil gl gy Wiz ey (A T 510 (F) o 50 dighaia ) S Tas
4
Yo (r
Y\ (¥
YY (F
il il 1SKSVo il a5 0bas {)ento} degeme 51 (TTyyens[Ty) oCiSls slaxi 1YY
1y ol il o | Ty —K S )
80 (Y
AR (Y
VFE (Y

Fx vt (f
s9ae K glacgamay; slasi ply fi (1) X ={1, Yo} (gllct jl T= (T, Typyun ) cll> 0 gl -IYF
I R=(THOFF) clile olp Il glpcw {T(a)[ac A} = A &5 sy9ba e sy X 51 A

b ol plp {1 ¥ye ] GBS aon 59, i oafiles Fe() = ¥ Lol sl yaofy(7) ox = {0y}
Y ()
k(v
n
n
K
oS 5ypba g il X={1,Y,¥,F,0} acqome sbacgemoy; il C 9 B A acgama aw pudlys o -I¥D
Sl 3 5Kl H5 sl @b wiz ot AxB#C g AcBcC
Yad (
dof (Y
OYA (Y
dYo (f
el yain G Gl slasi 25T 0,10 JSub cdio dog F 1ads .10 4 o 51 G wied g gedaues 1,5 -1YF
Ve (A
VA (Y
YE (¥
Yo (f


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

861A

YV axae

(17+8) 05 = gmpels pole acgane

D9 g0 iy ) D ygeods Fad po il AL SIS 59, R Ak,
GRH & q(G) =q(H),A(G) = A(H)
g so Slow | laaly ool S (53] b IS Wi
Y ()
Vo (Y
A (Y
# (¥

-\YY

LBl Gy Alsnd 333 0,135 &5 (5 yabds dwl 1y I sladie oy yieS —\YTA

€510 3929 ¥ Jogb &) ) oo K Pz 0 K ol g 508 K5y 50 Lolgls IS 2l Ky (sla by
Y ()
5 (Y
XAx
¥ (F
S fomsl 513 30 Wi (11 bl ¥
14Y ()
VAF (Y
VAo (Y
Y A x| VEF (F

iz el A Gl jekie) Lol plp ASY LK, 0 5 lifuns p U1 15158 slacs o olawi
(ol 5 3590 S y0

Yo ()

go (Y

\Yo (¥

Yo (F

i ¥ g g WS 0 B AbB T 01 000 (pdw 90 )R AT (5 9k Wiead pu) aiio ;3 (a1 Slam
1 Casl il Ty lkds spmalia Ty, 1) dmio 33 00 Slal o> lai Slaws H1.05)05 ad alaii 5 1

49oY (V

Yy

9994 (¥

- 94
-y +Y (F
r

Wl (F3F) Jobd Ll adl (1,7) Jobd a5 A={)Y,¥,F} acgama g9y olitesly glaakul, slasi
fewbois

YYAA ()

MY (Y

VY45 (T

YOAY (¥

-1r4

Y

-

-\rY


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

YA axio 861A (17+2) 0S5 = i gasolS palc acgoms

Cygeds I Eai 90 Wi S (ul Byl 18 Clakke axis 1 (0,0) dad o (S e
alaii d Ailgi o0 (39 yb Wi a I poie ol add plail R:I(X,¥) = (X+),¥) 5 S:(X,¥) = (X+),y+))
€3,08 (AF) ahaiii 31 loi> 45 g yaboas duw s (17, 10)

()’

\
GG ¢

Al

e — (Y
(eN(YH”

(\#)!

v
(\0!)(;!)" ¢

(AD"

(f
(e (Y

S5 S YL BT ol gy Ol o 325k i @ plodilans o 4 JU SO @5k 511 G 5 €y 90 99
il K jed (5 gbme (ol 90 G 45 (g 9be 55
Wo (A
YAY (v
Fro (Y
Y#A (F
)

b ol ply Y ¥ Pl X" s
(\—=x" )\—x" )(\—=x")

\YYFE ()
YoP\ (Y
YolF (v
FAYY (F

vy

-\rY¥

-1Yd


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

